RCC变压器参数计算

1. Vin=100~264Vac(50~60Hz)

Vout:

2. V1=3.3V/1.3A;V2=12V/0.5A;22V/0.8A  f=45KHz

3. Pout=(3.3*1.3+12*0.5+22*0.8)*1.3=36.3W

Pin=Pout/∩=36.3/0.7=52W

Iinrms=Pin/Vdcmin=52/120=0.43A

4. T=1/f=1/45K=22us  Ton=Toff=11us

5. Ipk=Iin*2/D=1.72A

6. Lp=Vdcmin*Ton/Ipk=767uH

7. 选用EI28  0.85cm2  2000Gs

8. Np=Ipk*Lp*K/Ae*△Bm=(1.72*767*100)/(0.85*2000)=78Ts

9. Ns1=((3.3+0.7)*78)/120=3Ts (3.3V)

10. Ns2=(13*3)/4=10Ts (12V)

11. Ns3=(23*3)/4=18Ts (22V)

12. Nb=(12*78)/120=8Ts
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N1(1-2)39Ts
      N4(9-10)3Ts
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N5(2-3)39Ts
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N3(8-7)10Ts
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N6(4-5)8Ts
     N2(8-6)18Ts
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